Set 14 — due 14 December

The last day of classes is Thursday, 14 December. You can put this assign-
ment in my mailbox, or hand it to me in person, any time up until 5 PM that
day. The grader will try to turn it back to me by Monday (or Tuesday morning
at the latest) and I'll post the solutions by Friday morning.

The final exam is Tuesday 19 December, 430-7 PM in our classroom.

“Modern physics is much too difficult for physicists.” — D. Hilbert

1) [20 points| Jackson 8.2. (a)-5 points, (b)-5 points, (c)-3 points, (d)-7 points.
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